N = 0l & At & Ml A

2AM: EXI
H: X200 SEHIELXNINL/NILTAI
SR DASHO EXNW 2Y EERED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
E Xl 3t 6,803,162 3,819,947 2,983,215
= 6,008,147
< 795,015
EXNAL SEHZELXGML/RNALZAl) 6,760,113 3,776,358 2,983,755
= 6,008, 147
< 751,966
DAHSHO EXNEE 29 901,962 915,520 A 13,558
= 874,462
< 27,500
EXZel L HAHEM &EE 12,000 12,000 0
201 Let24E] 6,000 6,000 0
01 At 22l 6,000 6,000 0
OEXNAL =& 2EEIIXN &8 fEs 29 6,000
202 O4dl 6,000 6,000 0
01 = LH YI 6,000 6,000 0
OEXZel & HHEAN &8 6,000
HESAXIN HRFEX(2) 889,962 903,520 A 13,558
= 874,462
< 15,500
101 144 dl 19,000 19,000 0
= 9,500
= 9,500
04 JIZHHZ22XREE S 19,000 19,000 0
OMESAXI It AL HE 19,000
= 9,500
< 9,500
201 2et24d] 4,000 4,000 0
= 2,000
= 2,000
01 At 2teltl 4,000 4,000 0
OMESAKXIN Hd2FX 4,000
= 2,000
< 2,000
202 O4dl 8,000 4,000 4,000
= 4,000
< 4,000
01 = LH o4 Hi 8,000 4,000 4,000
OMNE S AR 2=2 8,000
= 4,000
< 4,000
308 AXIEHSO0IA 858,962 876,520 A 17,558
= 858,962
01 AXNHHEBANEES 858,962 876,520 A 17,558
OME S AIRIIL ZAF & AHH 858,962




EA: EXD
BH: EX2elo BEH(IELNANL/NALSAI)
el DUSNO EXNYY 29 (S &2)
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
| = 555,967
EXIME 29 141,954 158,111 N 16,157
= 51,954
== 90,000
NE=sS 422 90,000 85,000 5,000
201 Bt A H| 70,000 67,000 3,000
01 At 22l bl 68,000 65,000 3,000
O=dXxl JA X 30,000
OMNH=EXH DI NE=2) =2 2= 33,000
OXNERARAZ 29 5,000
03 SHAIS H I 2,000 2,000 0
OXNHMOILL & FXUS = 2,000
202 044l 10,000 8,000 2,000
01 2LH0HI 10,000 8,000 2,000
OXNAE=Z Hurztel 10,000
401 Al HI 2L 2 0HHI 10,000 10,000 0
01 Al& H| 10,000 10,000 0
O2td I B=2te 10,000
NE2AE2(21D) 51,954 73,111 N21,157
= 51,954
101 2121 4| 19,000 19,000 0
= 19,000
04 JIZtHI22XNSE S 19,000 19,000 0
OJIEd 22 € NE&H 8§ NH22 19,000
= 19,000
308 XX SHHSOIH 32,954 54,111 N21,157
= 32,954
01 AXHNBNMNEXZ 32,954 54,111 N21,157
OGPS &AAIZ=EA L 2040 S 22l 32,954
= 32,954
S2AEES - AXNE2A A 1,074,500 1,144,400 A 69,900
= 834,000
= 240,500
SUAEEAY = L AXEAN 240,500 226,400 14,100
201 Bt 179,000 155,000 24,000
01 AtR 22l bl 8,000 8,000 0
OB 4+ U TLL22 S 8,000
02 532494l 171,000 147,000 24,000
OSUHEEBAAY L 2UHEH RXNES 171,000
202 (4] 11,500 11,500 0
01 2L Y| 11,500 11,500 0




% S 4 14
S =B .o (3 ) Ol At 04 %Eﬁ HR=2
OZ22UABAIY =& 8,000
oOtcEEzsE dd ¥ 3,500
405 XHA&HF S HI 50,000 30,000 20,000
01 XML 2 FF S| 50,000 30,000 20,000
OEXNSZSEHBHH 50,000
TS 2J|8 XIGtAI&E =S & A 834,000 918,000 A 84,000
= 834,000
403 XX SHHS K20 & 834,000 918,000 A 84,000
= 834,000
01 XIS A=Z2E X 834,000 918,000 A 84,000
OZ=ZD|8t XIGtAIE S s - &
29 834,000
= 834,000
TEYHFA - ESA 22 382,966 194,327 188,639
C2HEA MY FX 139,000 140,400 A 1,400
201 gBt24y| 31,000 30,400 600
01 AF 2t 2| H| 31,000 30,400 600
OE2HFA - NIHFK 2¢9 6,000
OAFE RS M SN 5,000
ORSA FAUHAME L 2IHXEHS &8 20,000
202 04| 8,000 8,000 0
01 2Ll 8,000 8,000 0
OE2HFA ¢ 2 8,000
403 XX SRS K 20| & 100,000 100,000 0
01 MHXSHHNE2BE = 100,000 100,000 0]
OO Al & L Ml = AF 100,000
CRYEUZAIIEET SXES AY(2 47,506 38,187 9,319
403 XX SHS K201 & 47,506 38,187 9,319
02 BJI2SoUtHs =2 47,506 38,187 9,319
OEZ2HFEA D2k 47,506
T2HEZFA - B A 22( 16,460 15,740 720
403 XX SHHS K20 ™ 16,460 15,740 720
02 BII&2S0tHe k= 16,460 15,740 720
O2IIFTATZEAAE 16,460
=2J1J|2% BEJ| X¥HA-H| 180,000 0 180,000
308 XAXIGHH SO0l & 180,000 0 180,000
01 AIKSHHENEXZ 180,000 0 180,000
O0/2A & H=2 180,000
X &= THEAANS 4,258,731 1,364,000 2,894,731




2N

X{ XH -
S =

EX
EXNZClS S83H(=2E

=)
0

KL/ TELE Al

bl
bl

R XIETHEAFAFS (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2

= 4,247,731
& 11,000

KETHEZAAY =&(=21) 4,247,731 1,313,000 2,934,731
= 4,247,731

308 XHXIEHSOIA 4,247,731 1,313,000 2,934,731
= 4,247,731

01 AIXSHMEMNEX= 4,247,731 1,313,000 2,934,731
OXZEEA AL 4,247,731
= 4,247,731

X = THZEAFAIES 11,000 51,000 A 40,000

201 et Y| 5,000 5,000 0

01 AP 2t 2] d| 5,000 5,000 0
OXNEMEARRAS 28 &£ =222 H & 5,000

202 044l 6,000 6,000 0]

01 2L I 6,000 6,000 0
OXZETHEAAYE =& 6,000

HESAAHI(EXI)(IIEH/DIE) 43,049 43,589 A B40

JlE&ddl 43,049 43,589 A B40

2A2Y 2234l 43,049 43,589 A B40

201 et 28,589 28,589 0

01 AP 2t 2| bl 28,589 28,589 0
OBANSYE AR 22ldl| 28,589

202 04| 10,260 11,400 A 1,140

01 2Ll 10,260 11,400 AN 1,140
fAeY ol 10,260

203 €2 F=&d| 4,200 3,600 600

04 EANSIELRF=XH| 4,200 3,600 600
©252! 0| ot 350,000& «12& 4,200




